.

BALBRIAGR Y 0T 2EE(DF=REF —FRBEMARXG2F 3 Bk ML
—EFEE . (BHLAy #8Up) BEFEAZERL N
ILABY » HENZTSL AR M ek o BT Z17— 18 B, A 094Ut R 4435 9 1/
(A) £2 8RR & 26 (B) £489yM4E A A LD Mm .@
(C) Z1 RN AALLS (D) Z5W9HTAEARL L8 -
2.HFBTFITHEREFATRGEETZ — 7
(A) 2mPFGM—BGHE - MERRMPNARE (B) 2®m- T8 BSME 0 RIARRAESF
(C)F4Tp Ml By 3Bk R AR 4 (D)#ZHEH L - LESERagNEL > 8L // L o
3. ko |8 ~LABC=125" > ~CDE=115"« % 4B //DE > R] Z/BCD= ? A
(A)55° (B)60° (C)65° (D)T0° - \RJ\/’
| g
4. 4o# 8 o L,// L, o B1F 5| BT % E4k ? ST L
(A) £z4=23 (B) £3=41+ 412 5
(C) £1=22 (D) £3=22+ 24 - N L
5. 4o 5 ”r\\ L,  AB =7~ BC =8 %AACE sy @A 75 RIAABD ey @A % 0 ? i - L
(A) 70 (B)80 (C)40 (D) 35 - E
x5 ¢ ”
6. 4o LA yRde LB R BABTAT > B ZA=46" 0 Bl ZBOYEH A S D ?
(A) 46> (B) 92° (C) 23" (D) 46° % 134" -
T ok B > FFI BT o A — 18T SR & H % w i ABCD A 47w 78 2 b —7C
(A) AB//CD B AD=BC (B) AD=CD H AB=BC
A B

C) £1=£28,3=24 (D) £1=/2 B AD=BC -

8. T F1 B 7 va 2% 70 $F f 4p 6 Bl AT & EAE 7
(A) HARTZARFLHWEHLHETH (B) A& asFrLEkeywdo b F RGN
(C) HAag oA SRy wEMLeAESTH (D) HAGARFPLFAGWEHLEHEN -

9.2% 0 &-F-47w g ABCD M3 — 25 > &4 AAOD ®mAE % 67 B4 > ADOC ®mAg A 7 -F 7 B4 >

4 D
ABOC @& % 5 F 77 B4 » RIAAOB @A % 0 F 7 B4 7 X
(A4 (B)5 (C)H6 (D)8~ |
. B C
F
\U
C

10. 479389 ABCD  » BE P4 ~ABC B X DCit B4 F 2 » 22 FC =6 47 m & ABCD

B+&#% 16> 8IDE=? (A)3 (B)4 (C)5 (D)6~ A _E

L~

B

(3 @ A XA )

(hy




b
!

11. &4 ABCD $2 EFGH 34 % F47w 5% » £1=40" » £2=130" > £B=60" > &| ~LH=? 2
(A)110° (B) 115" (C)120° (D) 125" - B

12. 404 B > w3 ABCD AL HAEE Y — 57 » AC AL ¥ > £ Fokd > EheygsE? O
(%) AD=AB () AC=BD (&) AC#BD m4aE & (T) «DAC= ~BAC

D
(%) CD=CB (2) #HAas%kztaFsy (&) miti ABCD @k = AC x BD >/_qu
B

(A)3 (B)4 (C)5 (D)6-
13. G4 SR ABCD 8902 K A 12 AEAG60 AIFHEAZ VP ?2(A) 18 (B) 24 (C) 28 (D) 30-

14, o5 B » F47e:EA ABCD & > 0 B4 A 4 25 > R F 4k fr % £ o ?

A
(A) ACOD m#aEfn AAOD &y mfE48 %  (B) AAOB = ABOC E
(C) ABCD @#k %747 ABCD @Ak a2 — (D) OA = OB - 5 /.
15. 4048 » 47 ABCD % » AB// (D » EF // AC » AD =CD » 2 /BEF=39° > C
o7 F
Al D 2% E? (A) 1020 (B) 1170 (C) 131° (D) 141° - / m l// M
E
16. 4o B > #7 ABCD ¥ » AD//BC » ZC=56° » #8 DE 4> £ZADC B.% BCH# E 8 > A

D
D
B A
D
WAE4F AD=BE » 8l Z4=?  (A) 113" (B) 118" (C) 124° (D) 128" - >
B
E C

17 FHHR—FEwE e g%k ?
¥:IRAW T EH A FAAWER T FEREL -
(A) ¥z (B)¥m (C)¥T (D)A&T:-

18. F— %M ABCD eyt % 120 » H P — 5 H A4 BD =24 RILEWWH AL S D ?
(A) 40 (B) 52 (C) 60 (D) 68 -

19. 4o A8 » #WABFEY » GH AL 48 > B v WABCDA F47w & » 40 AE =4 cm >
BF =9 cm B DE +BC= 2

(A)8cm (B)9cm (C) 10 cm (D) 11 cm -

20. o5 B FATmEM ABCD ¥ @ M AP gm N P-Q - R-SwEE - #PS =10 2% >

A E D
.
B C F
A D
PO =24 4+ BIF FI B va 7% PQRS 4448 B 4477 & 2k ? , R
() SR=10 2% (B) w PORS @A =120 F 7 2% .@
B C
A D
B C

(C) PR=26 2% (D) wifit PQRS &4 B k=48 5 o

21. & R4 ABCD + - @\\WW ’ w%@nénm v LA=120"° > miﬂ%ﬁﬁ%%%ﬁ
O EMEZNEL? (A)18 (B)14 (C)9 (D) 8-

(2)




PAMIAREA T 10T RFEE(D)EZREF —FRBEH2E 3 B W4
— A (B4 AR ERE
AAIR 1 2 3 4 5 6 7 8 9 10
5%
AAIR 11 12 13 14 15 16 17 18 19 20
5%
AAIR 21
5%
SHEA (B4 £ 165 THEILH)

1. F47wt ABCD > AC ~ BD X 0 8 E~F =% 4

RE A w i AECF & -F4fTm i -

2. 47w %7 ABCD *F » i % EF 45 w4 ABFE 38 & >
A4F T /S A B CBs ' BEAAGEL BT
H EFGCD A E RS » £ A=

BD >

3.4 %7 ABCD ¥ » 3 BD 4 ~ABC-P %4 BD L+ A P

10> AB=8+ PA =6 8]PD="? o

4. %5 ABCD + » AB//CD » 8,40 AB =5~ AD =342 >
Z/BCD=60° ~ ~CDA=45" » £CD —BC = ?

B A
\%_ V/
C D




AR

10

RAGR

11

12

13

14

15

16

17

18

19

20

A

AR

21

C

—~3EA (BAd4H 0 £164)

1. P47 ABCD + > AC ~BD %A 0 85 E~F =% 4 BD >

o v % AECF 2 P47 255 o

2. 47w %5 ABCD ¥ » 3% 3 EF #§ w57 ABFE #8 & -
AT OEF A HACE L BEEAGCE L B
A% EFGCD & EAEW » R LA=7

72

3. 4L %W ABCD ¥ » %= BD 4 ~ABC P #:4 BD b H P
10> AB=8> PA =6 A|PD=? b

A 4% ABCD + » AB//CD » €40 AB =5~ AD =342 >
/BCD=60° ~ ~CDA=45" > £CD —BC = ?

B A

60° 45

8-+/3




